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QUESTION 1

A customer has Identified problems In an Indoor, medium loaded, urban area of a GSM/WCDMA collocated network.

The problem seems to be in the uplink. The signal level received by the problematic site is high, and the downlink signal

in the problematic area is acceptable. Which two actions would you use to troubleshoot the issue? (Choose two.)

A. Add a pico cell In the same RAT and frequency.
B. Run a passive inter-modulation (PIM) analysis.
C. Decrease base station transmission power.

D. Investigate external interference.

Correct Answer: BD

QUESTION 2

Which two use cases are specifically targeted for 5G technology? (Choose two.)
A. multi tabbed Web browsing

B. massive machine-type communications

C. remote controlled machines

D. asynchronous transfer mode backhaul

Correct Answer: BC

QUESTION 3

In LTE, what is the definition of an A2 event?

A. The neighbor cell becomes better than the threshold.
B. The serving ceil becomes better than the threshold.
C. The serving cell becomes worse than the threshold.
D. The neighbor cell becomes worse than the threshold.

Correct Answer: C

QUESTION 4
Which two statements are true about the Antenna Integrated Radio (AIR)? (Choose two.)

A. The AIR is a hardware unit that integrates the radio and the antenna.
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B. The AIR replaces the digital/baseband unit.

C. The AIR in an LTE system is directly connected with the MME using the Sl interface.

D. The AIR can replace the standard RU/RRU and antenna.

Correct Answer: AD

QUESTION 5

Which multiple access technique is used In LTE radio DL?

A. Single Carrier Frequency Division Multiple Access (SC-FDMA)
B. Time Division Multiple Access (TDMA)

C. Code Division Multiple Access (CDMA)

D. Orthogonal Frequency Division Multiple Access (OFDMA)

Correct Answer: D
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